MR LB (55 4R \ihg
S0 BB TR AT N S R B HEI9Y)

G 0 R S H

(Fife) HEETTE

IO LN THEBEKT OEATEHOR B B B LA AT ST R
B 4 0 5545 & 5 6T T2\ 00 O B BE T IR AT BT R B & 22 AT B ES 5 S DA
E LV BREEEZIRATHEBVZ LET,

L WiBERCETLRE
26, 530 [

2 HHBIIE (YRR
21, 264

3 BFREE B D £ 1



BIECLE 2 Sak=C (% 5 4:B94%)

Py

B RS AT BAT LA B & BB IR E

AT B & OB R
R i E A OB oo &4
3 H4 4, 260 M 4, 260 M
4 B4y 4, 280 [ 4,280 [
5 84 4,400 [ 4, 400 [
6 A4 4,480 [ | 4, 480 [
7R 5 4, 560 4, 560 [
8 A4 4, 600 [ 4,600 [
= Ein 26, 580 26, 580 Y
2 fBhERfTHE
26,580 ] X 0. 8 = 21,264 9
( #WBhxsH X f By E = e )

(MR 5 C)



WRH 1 BER (85 RBE) O\ @a
T3 EEFEITE HH%%&&{$ e (51149

S m 4 # 3 B3¢ H

(3Esc) BEEHE

JHRHET N &
=k W oK F

FH 5

ZDZ LI OWTHERIT OB S # B 2

TR CHF RS KT T A
%é@mﬁ

2RO CHEE T RAT RIS HEME 5 &0
CRVEREEERATHRE N LET,

1 WEHERECETIRE
28, 760

2 B EZZ A ARG
23, 008/

3 BAfREE B D £ B Y



RUFLEE 2 B R0 (B8 5 LB94R)

T BT RA B EERENRE

BT BB & O FEF N ER

1 B S

X & BOR O# OB x5 A
9 H4 4, 660 é} 4, 660
10A% 4,700[3/% 4,700 M
1 1A% 4,760?% 4,760 M
12A% 4,820?% 4, 820 [
1 A%y 4,860?% 4, 860 [
2 A4 4,960?% 4,960 M
& at 28, 760 M 28, 760 4

2 1 Bh& 2T T B REE

28,760 X 0. 8 =_ 23,008
( #Bhxt&3|m X ff Bh E = WiBh&® )
(MR EI D &)




